
■ 商を一の位まで求め、あまりも答えましょう。

① 31.7 ÷ 4 = あまり ⑪ 57.9 ÷ 6 = あまり

② 10.5 ÷ 2 = あまり ⑫ 46.9 ÷ 5 = あまり

③ 8.7 ÷ 6 = あまり ⑬ 16.9 ÷ 8 = あまり

④ 27.3 ÷ 4 = あまり ⑭ 55.9 ÷ 7 = あまり

⑤ 18.7 ÷ 2 = あまり ⑮ 50.2 ÷ 8 = あまり

⑥ 31.1 ÷ 5 = あまり ⑯ 13.7 ÷ 3 = あまり

⑦ 4.7 ÷ 2 = あまり ⑰ 87.2 ÷ 9 = あまり

⑧ 26.5 ÷ 7 = あまり ⑱ 75.8 ÷ 8 = あまり

⑨ 49.9 ÷ 9 = あまり ⑲ 26.3 ÷ 3 = あまり

⑩ 22.9 ÷ 9 = あまり ⑳ 15.6 ÷ 5 = あまり

(小数)÷(整数)の商とあまり
年 組 名前
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■ 商を一の位まで求め、あまりも答えましょう。

① 31.7 ÷ 4 = 7 あまり 3.7 ⑪ 57.9 ÷ 6 = 9 あまり 3.9

② 10.5 ÷ 2 = 5 あまり 0.5 ⑫ 46.9 ÷ 5 = 9 あまり 1.9

③ 8.7 ÷ 6 = 1 あまり 2.7 ⑬ 16.9 ÷ 8 = 2 あまり 0.9

④ 27.3 ÷ 4 = 6 あまり 3.3 ⑭ 55.9 ÷ 7 = 7 あまり 6.9

⑤ 18.7 ÷ 2 = 9 あまり 0.7 ⑮ 50.2 ÷ 8 = 6 あまり 2.2

⑥ 31.1 ÷ 5 = 6 あまり 1.1 ⑯ 13.7 ÷ 3 = 4 あまり 1.7

⑦ 4.7 ÷ 2 = 2 あまり 0.7 ⑰ 87.2 ÷ 9 = 9 あまり 6.2

⑧ 26.5 ÷ 7 = 3 あまり 5.5 ⑱ 75.8 ÷ 8 = 9 あまり 3.8

⑨ 49.9 ÷ 9 = 5 あまり 4.9 ⑲ 26.3 ÷ 3 = 8 あまり 2.3

⑩ 22.9 ÷ 9 = 2 あまり 4.9 ⑳ 15.6 ÷ 5 = 3 あまり 0.6

(小数)÷(整数)の商とあまり
年 組 名前

/20


